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B 45z PIE % ouT IN GROSS HDCP NET JIE {5z HEER ouT IN GROSS HDCP NET =
125 FL BE 43 41 84 14.4 69.6 )\E 514 Ft BRA 54 53 107 28.8 78.2
EEH HE E5 41 42 83 12 Al AE 52431 HAO #xX 46 48 94 15.6 78.4

kliva R FR 46 47 93 21.6 714 AE 53{ ARE JEIE 58 54 112 33.6 78.4

AL AH Fi 48 51 99 27.6 71.4 AE 54431 hy B 52 53 105 26.4 78.6

54 2 FH 46 46 92 204 71.6 AE 554 BH BE 47 49 96 16.8 792 RE
643 o OBE 43 42 85 13.2 71.8 564 2H H5A 53 48 101 21.6 79.4

Iiivs AA EBA| 44 43 87 14.4 72.6 574 g &= 54 53 107 27.6 79.4

84z mxE RE 45 42 87 14.4 72.6 584 FfE BKR 53 58 111 30 81

9fir B EiE 47 44 91 18 73 5941 2EF F—H 48 50 98 16.8 81.2

103z *MH gh 50 47 97 24 73 RE 6013 A 5 60 56 116 348 812 MmE
11432 R EH 47 48 95 216 734 614z FE XX 55 60 115 33.6 81.4

1241 B Kot 47 47 94 20.4 73.6 62431 Hixt % 53 60 113 31.2 81.8

1343z =H EA 44 43 87 13.2 73.8 634 By —X 61 57 118 36 82

1441 NG BBA 45 48 93 19.2 73.8 64431 KA EA 57 59 116 33.6 824

1543z HE BE 54 51 105 31.2 73.8 RE 651 0O B 55 47 102 19.2 828 RE
1643 FE/R1 B3 45 46 91 16.8 74.2 664 =E E2 63 56 119 36 83

174 RKE &= 47 44 91 16.8 74.2 6741 #HR RF 60 59 119 36 83

1843 5H #— 47 44 91 16.8 74.2 684 7 ffi— 55 50 105 21.6 83.4

1943% i BA 46 43 89 14.4 74.6 694z a0 = 67 50 117 33.6 83.4

20431 g & 49 46 95 204 74.6 RE 7043z BA R 60 60 120 36 84 RE
214 B F 50 51 101 26.4 74.6 YAk HE 51& 61 52 113 28.8 84.2

22431 BO —B8A 46 48 94 19.2 74.8 72451 B Flth 59 52 111 25.2 85.8

234 Bl =8 47 52 99 24 75 7341 FH B&— 60 62 122 324 89.6

2441 WA =B 52 47 99 24 75 74431 ¥ARE 1EBh 52 65 117 25.2 91.8

254 LN 59 52 111 36 75 RE 7541 fBE fi— 68 58 126 33.6 924 FRE
264 W 85 48 44 92 16.8 75.2 7643z FHE Zi 64 65 129 36 93 BB
2741 Ell #FA 47 45 92 16.8 752 LHAE 7742 Bt E 64 Al 135 36 99

284 XH BHih 49 46 95 19.2 75.8

29431 hix 18 57 50 107 31.2 75.8

3043t EfE B 47 46 93 16.8 76.2 WE

314 WA BFE 56 49 105 28.8 76.2

32431 ZK BT 51 53 104 27.6 76.4

334 A EZ 53 44 97 20.4 76.6

3441 KRR #E 56 52 108 31.2 76.8

354 FHE Xz 45 44 89 12 77 RE

3643 B fmh 50 45 95 18 77

374 R B= 45 50 95 18 77

384 B ES 55 46 101 24 77

394 R EX 55 52 107 30 77

40131 xE Hz 54 46 100 2238 77.2 RE

414 E3- N 49 50 99 21.6 774

4241 Kk A 52 53 105 276 774

43431 ZiE =F 59 52 111 336 774

4441 He B 53 45 98 204 776

45{31 BAR B 56 54 110 324 77.6 RE

464z ERK ZEAE 49 42 91 13.2 77.8

4741 &b BT 50 52 102 24 78

4841 il E=A 53 49 102 24 78

49431 b, 11, AN 56 52 108 30 78

504z WE &% 50 51 101 228 78.2 WE




